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General Instructions :
(@) This question paper contains 83 questions out of which the candidate
needs to attempt only 25 questions.
(i)  Question paper is divided into two sections.
SECTION A
*  Multiple choice questions / Fill in the blanks/Direct questions :
contains total 12 questions of 1 mark each. Answer
any 10 questions.
e Very short answer type questions : contains total 7 questions of
2 marks each. Answer any 5 questions.
e | Short answer type questions : contains total 7 questions of 8 marks
each. Answer any 5 questions.
SECTION B
Long answer / Essay type questions : contains total 7 questions of 5 marks
each. Answer any 5 questions.
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SECTION A
feu v ame 7 @ foRedl g wl & S @Y | 1x10=10
Answer any ten questions from the given twelve.
1. fafafeas 8 @ s v o gafa a8 & ? 1
(%) ditNfed grEa — see g
(@) 3= Iafed wn — g fafar
(M) AR R Ai-Scafd wwe — wta fefe
(7) o fire 39 - fewee i &
Which one of the following is rot correctly matched ?
(a)  Positive drive — Belt drive
(b)  High velocity ratio — Worm gearing
(c) Non-parallel and Non-intersecting shaft — Spiral gearing
(d)  Gear train in clock — Reverted gear train
2. fru a3 ), oifofea e @ g 9 e wiwe & = o /e &
fow e f= w1 Iwm S 1
(%) T 9T (@) -ugr =meH
(M) =A = (@) FrR =
For constant velocity ratio, positive drive with large distance between
driver and driven shaft, one would use
(a) Rope drive (b)  V-belt drive
(c) Chain drive (d)  Gear drive
8. ATERA 3 gTea ! $Td ol & | 1
(%) uitwfea, T e
(@) -H-iffeE, fem
() uiffe, feed
‘(‘a) - AM-uINTeE, |-
Chain drive is referred to as or drive.
(a)  Positive, No Slip
(b)  Non-Positive, Slip
(¢)  Positive, Slip
(d) Non-Positive, Non-Slip
106 3 P-T.0.
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() SR TG Ther T
() &fsehn e wohet At

A Cochran boiler is and

SR T B [F IR 2 |

fire tube type of boiler.

(a)  Horizontal and Multitubular
(b)  Vertical and Multitubular

(¢)  Vertical and Single Tubular
(d)  Horizontal and Single Tubular

SR § “Sof-31Th wien” 1 1 sigew 3 BT R |
(%) TR (IE) Frmo (@) amum e
() IS (37ufdee) s Frepem (&) it < e

The function of “Blow-off Cock” in a Boiler is to from the Boiler.

(@)  Cut off the pressure (b)  Control the temperature

(c) Remove the sludge (d)  Remove the water

e TS ST G IeAMiee SRR BT o[ STaem <6 g § g &

(%) fess

(@) =m

(M) &= e

(") =t ST, =t @y

The pressure produced by Water Tube Boiler in comparison to Fire Tube
Boiler is

(aj Higher
(b) Lower
(¢) Same

(d)  Sometimes Higher, Sometimes Lower
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(@) TH @ H1 I H@l 8
(1)  STaTE § G T8 SISl Il 7

- (9) IR I9R 7S B W WG A 7€ H IREhia ek HH Al 8

An Impulse Turbine

(a)  Is most suited for low head
(b) Makes use of draft tube

(c) Is not exposed to atmosphere

(d) Operates with initial complete conversion of pressure head to

velocity head
FIH, BT Ta o Taea i fafdree nfa frefafea & & %A
4 gl 8 | ot
(%) oA (@) orEE
() wEH (9) S wf
The specific speeds of Kaplan, Francis and Pelton Turbines are in
order.
(a) Increasing (b) Decreasing
(c) Same (d)  All of the above
et g E. W w1 wEEE U ffafed ® @ IR
T I BT 7 | 1

(%) WL Jogd, T dregqd

(@) Tocivet =1 Fa aicgm, FAEH aiegq
() ToevE 1 F dieyH, W diegd
(F) o iegH, T qiegd

‘The Compression Ratio of an I.C. Engine is the ratio of to

(a) Swept volume, clearance volume
(b)  Total volume of cylinder, clearance volume
(¢)  Total volume of cylinder, swept volume

(d)  Clearance volume, swept volume
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10. ﬁw%f@aﬁﬁﬁq-ma%ﬁaaiﬁ?ﬁmﬁm%? 1
(%) Frew
(@) foRr auEm
(M) fOR s
(7) TR T w6 Br amem
Which of the following cycles is associated with petrol engine ?
(a)  Constant Pressure
(b)  Constant Temperature
() Constant Volume
(d)  Constant Pressure and Constant Volume
11. U Wawiehfon woem & 78 dran 1
(%) Frevee (@) firR wieg
(M) wAfFen o (g) fws
A reciprocating compressor does not consist of
(a)  Cylinder (b)  Gear box
(c) Connecting rod (d)  Piston
12. ﬁwf‘w@aﬁ@aﬁé&aw%@aﬁaﬁ@aﬁ%fmwﬁnm%; 1
() o (@) w9
(M)  gASRR (T) U e
The type of tractor employed for excavating and moving the earth is
called
(a) Crane (b)  Screw jack
(c) Bulldozer (d)  Road roller
mmmﬁ#%@ﬁw&wﬁml 2x5=10

Answer any five questions from the given seven.

13.

14.
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@Wé@ﬁmwﬁwmm%@mﬁﬁawﬁm(w)
Ifhal % T Famsu | 2

Name the different driving elements used for transmission of motion and
power from one shaft to another.

G Ugl F1EH T 19 g1 e # Siat §aTey | s
State the difference between Open Belt and Cross Belt drive.
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15. HRR SE S19eR 991 8id 8 ? 2
What are the Fire Tube Boilers ?

16. e H SERi % ITIRT FATRT | 2
Give the use of boilers in industries.

17. @R @A 9 o119 w1 |99ed § ? 2
What do you mean by Reaction Turbine ?

18.  Tqfeh g 3H T8 9Te g8 $H H @ 3t a1y | 2
Give two differences between Internal Combustion Engine and External
Combustion Engine.

19. omE.H. 30W # v e 1 I9ART FART | 2
Give the use of Fly wheel in an I.C. Engine.

few o w7 @ feredi uta wei % I T | 3x5=15

Answer any five questions from the given seven.

20. T I i T H TSI ATeH o e fafE | 3
Write the merits of Belt drive over Rope drive.

21. IS [N W AT FAT A § ? 3
What do you mean by Velocity Ratio ?

22, S¥eR URfE % wri fafay | 3
Write the functions of Boiler Mountings.

93. EESIcTh TS & IR EIRT | 3
Give the applications of Hydraulic Turbines.

24, HEE Y AT FAT GHA & ? 3
What do you mean by Compressor ?

25. 3 # 3fee fawen %1 R ffeg | 3

' Write the function of Ignition System of an Engine.

26. T e 1 IBH & U 9 1 T FA G TohT FEhHI 1 AW @
MeT ? 3
What factors should be taken into consideration while selecting a crane
for lifting a job ?
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SECTION B

feu o mmA F G foRedt w6 S AT | 5x5=25

Answer any five questions from the given seven.

27. foroe i 39 @ o1 =0 gHg § 2 AR 9UesT | 99 g i g | R
159 % oY TF BIHAT e | 5
What do you mean by Simple Gear Train ? Explain with sketch. Write
merits and demerits of gear drive over chain drive.

28. “Sumish AN et sigery’ & wEifafy H wes foF H ggar ¥ 9wy | 5
With the help of neat sketch, explain the working of “Babcock and Wilcox
Boiler”.

29, TETE H TRl FA fR mar R 2 wee fam it wEma ¥ S e
TETEA 1 HREY THAST | 5
How are turbines classified ? With the help of neat sketch explain the
working of “de Laval” Turbine.

30. T=o o N HEHAT ¥ Yoo TaTE hl TEAT TF FRAY H GEAET | 5
With the help of neat sketch explain construction and working of Pelton
Turbine.

31. ot 3R T divet W H I wamsy | Wes R f wEEar ¥ QR 3hE
# Srifafy usmsy | 5
Give the difference between petrol engine and diesel engine. With the
help of neat sketch, explain the working of two-stroke engine.

32. fame WS +8m H = @ sEtfy # @= & H wEa |
TqHaATS | 5
With the help of neat sketch, explain the construction and working of
simple reciprocating compressor.

33. e fu3 6 ggEar 4 daferm 1= A Y G Td SRS FHEET | 5
With the help of neat sketch, explain construction and working of
travelling gantry crane.
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